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General English Language - General English Language

Question No.1

Choose the word which best expresses the similar meaning of the given word "
DISGUISE ".

(A) O Divulge

(B) O Disclose

(C) O Represent

(D) O Conceal (Correct Answer) (Chosen option)

Question No.2

E
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.

We will playing cricket next Monday with our team.
(A) O The given sentence is correct

(B) O will have playing
(C) O will be playing (Correct Answer) (Chosen option)
(D) O have played

Question No.3

Choose the word which expresses nearly the opposite meaning of the given word "
MUNDANE ".

(A) O Routine

(B) O Abnormal (Correct Answer)
(C) O Normal (Chosen option)
(D) O Banal

Question No.4

Fill in the blanks with suitable Article from the given alternatives.

Our professor gave
A O a

(B) O the

O

important information about agriculture.
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(C) No Article
(D) O an (Correct Answer) (Chosen option)

Question No.5

Fill in the blanks with suitable Preposition from the given alternatives.

Most of the Multinational Companies are having their branches the globe.
(A) O about

(B) O across (Correct Answer) (Chosen option)
(C) O at
(D) O above

Question No.6

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

Person who eats too much

(A) O Pessimist

(B) O Predator

(C) O Octogenarian

(D) O Glutton (Correct Answer) (Chosen option)

Question No.7

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

One who often talks of his achievements
(A) O Egotist (Correct Answer) (Chosen option)

(B) O Reciprocate
(C) O Psephologist
(D) O Funambulist

Question No.8

Choose the word which best expresses the similar meaning of the given word " GAZE ".
(A) O Important (Chosen option)

(B) O Look (Correct Answer)
(C) O Ignorance
(D) O Moderate

Question No.9

Find the word which is correctly spelt from the given options.
(A) O Recipiant
(B) O Sanction (Correct Answer) (Chosen option)
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(C) O Quickan
(D) O Chronecle

Case Study - 10to 14
Directions: Read the passage carefully and answer the questions that follow.
German Miners at the Prosper-Haniel mine presented a chunk of black coal to their country's
President Frank-Walter Steinmeier at a ceremony to announce the closure of the country’s last
black coal mine. This, however, doesn't mean that Germany will be completely off coal: the
country will continue to import cheaper, foreign coal, which means mining operations such as
drilling, blasting, hauling, collection, and transportation will pollute the countries that export coal
to the economic powerhouse, but the pollution burden on the European nation will be much lower.
Moreover, while Germany has closed down deep-shaft mining, it is yet to close down lignite, or
brown coal, mines. Lignite is considered even dirtier than black coal but remains cheap to extract.
Germany's decision to close down the last coal mine is to meet its decarbonisation goals. While
these developments are positive news — phasing out coal is considered crucial to limiting global
warming to within 1.5 degree C. The world’s coal addiction is not going to go away soon because
many parts of the world such as India and China still need the cheap fuel to power their economic
growth.

Question No.10 Marks

Bookmarl
Why did the German miners presented a chunk of black coal to their President?

(A) O To publish the shutdown of the country's last black coal mine (Correct Answer)
(Chosen option)

(B) O It was the last piece present in the coal mine
(C) O To explain their poverty
(D) O The president asked for it

Question No.11 Marks

Bookmarl
Why did Germany decide to close its last coal mine?

(A) O German don't require coal anymore

(B) O Toimport coal from foreign countries

(C) O To meet its decarbonisation goals (Correct Answer) (Chosen option)
(D) O The coal mine is off coal

Question No.12 Marks

Bookmarl
Statement 1: Brown coal is cheap to extract.
Statement 2: Mining operations cause pollution in the country that imports coal.

(A) O Statement 1 is true and statement 2 is false (Correct Answer)
(B) O Statement 1 is false and statement 2 is true

(C) O Both the statements are true (Chosen option)

(D) O Both the statements are false

Question No.13 Marks

Bookmarl
Which of the following is not a mining process?

(A) O Hauling
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(B) O Drilling
(C) O Welding (Correct Answer) (Chosen option)
(D) O Blasting

Question No.14

According to the passage, what does the word 'off' mean?
(A) O Spoilt

(B) O Unavailable (Correct Answer) (Chosen option)
(C) O Foul

(D) O Far

Question No.15
E

Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option ‘'The given sentence is

correct'.

Leading holistic health guru and corporate life coach Dr Mickey Mehta cannot stress
enough in the importance on yoga.

(A) O an enough on the importance

(B) O aenough on the importance of

(C) O enough on the importance of (Correct Answer)

(D) O The given sentence is correct (Chosen option)

Question No.16

Fill in the blanks with suitable Preposition from the given alternatives.

We have been living in this palace 1956.
(A) O against

(B) O since (Correct Answer) (Chosen option)

(€) O for

(D) O through

Question No.17
E

Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.

She wore minimal makeup and kept her hair open with a side partition.
(A) O wores minimal makeup and kept her (Chosen option)

(B) O The given sentence is correct (Correct Answer)

(C) O wore minimal makeup and keep her

(D) O wores minimal makeup and keep her

Question No.18
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Fill in the blanks with suitable Article from the given alternatives.

Todayis_____ hottest day of this year.
(A)O a

(B) O the (Correct Answer) (Chosen option)
(©) O an

(D) O No Article

Question No.19

i
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.

Hiromu Inada from Japan already hold the title of a world’s oldest Ironman.
(A) O The given sentence is correct (Chosen option)

(B) O from Japan already hold the title of an
(C) O for Japan already holds the title of the
(D) O from Japan already holds the title of the (Correct Answer)

Question No.20

Find the word which is correctly spelt from the given options.
(A) O Transpire (Correct Answer) (Chosen option)

(B) O Quantem

(C) O Comensurate

(D) O Colaborate

Question No.21

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

One who is not easily pleased by anything
(A) O Fastidious (Correct Answer) (Chosen option)

(B) O Renovation
(C) O Insolation
(D) ©O Anonymous

Question No.22

Choose the word which expresses nearly the opposite meaning of the given word "
ACCLAMATION ".

(A) O Cheers

(B) O Salutation

(C) O silence (Correct Answer) (Chosen option)
(D) O Applause
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Question No.23

Fill in the blanks with suitable Article from the given alternatives.

Johannes Ager is an Austrian professional tennis player.
A)O A
(B) O An
(C) O The
(D) O No Article (Correct Answer) (Chosen option)

Question No.24

Find the word which is correctly spelt from the given options.
(A) O Circummlocution

(B) O Gracious (Correct Answer) (Chosen option)
(C) O Falacy
(D) O Radecal

Question No.25

Fill in the blanks with suitable Preposition from the given alternatives.

India won't back down its plan for mandatory data localisation.
(A) O under

(B) O near

(C) O on (Correct Answer) (Chosen option)

(D) O since

Odia Language - Odia Language

Question No.1

FIRR 1Q @ *89I- PG a 60 22 O ?

(A) O @18 986 alen 62!

(B) O 188 @ cIgel

(C) O I8 @ 26PRA

(D) O ¢ @a1@ (Correct Answer) (Chosen option)

Question No.2

PRIA AR FRIQ |- ANMEA Rl 'R 606 ARG ?
(A) O @1 (Correct Answer) (Chosen option)
(B) O ogd

(C) O «qam

(D) O @o1)
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Question No.3

Q9 60QI- QPR 606 2 O ?

(A) O eaIe6esm Qeq cI@al

(B) O ¢#6a IR 624!

(C) O g€ Qe @@al

(D) O 4¢4 6@Ql (Correct Answer) (Chosen option)

Question No.4

7 01 00Q 6RGM' I- AIRYER R 'QAQ 6a6 ARG ?
(A) O oy
(B) O agen
(C) O «<=a1 (Correct Answer) (Chosen option)
(D) O ogen

Question No.5

QQMIF'Q GIRGk Q'8 ?

(A) O @@a@wI (Correct Answer) (Chosen option)
(B) O @@

(C) O eeq

(D) O «egad

Question No.6

'R - 619Q FARAE 61 @'l ?

(A) O ce@1al

(B) O aeg

(€) O aeg

(D) © aea1g (Correct Answer) (Chosen option)

Question No.7

05" 90 AAIFEARI? §RF @'E ?
(A) O Q¢

(B) O aw

(C) O Q% (Correct Answer)
(D) O &e@1(Chosen option)

Question No.8
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0R 605 99IQ G2l |

(A) O FaexIa (Correct Answer)
(B) O Gsq@=Ia (Chosen option)
(C) O faesaIq

(D) O Faewmiau

Question No.9

'Y’ - SRR FARO 60 @'61 ?

(A) O aeue (Correct Answer) (Chosen option)
(B) O aye

©) O aaye

(D) O aqrne

Question No.10

'°gT @ 9RIQ 6IR ?

(A) O aige

(B) O 6ea@

(C) O ega (Correct Answer) (Chosen option)
(D) O agges

Question No.11

QARINE 696R 2R QY AEE 6RAR AIBIR QEp V6 HLIAIN?
(A) O 296 Q4ee
(B) O gleee e4ge
(€) O augie Q4ee
(D) O «qiIgie @4ee (Correct Answer) (Chosen option)

Question No.12

0% 610G 09I G2 |

(A) O @6RIFIRY (Correct Answer)
(B) O a9¢I@eY (Chosen option)
(C) O aasaimay

(D) O aeda@e

Question No.13

MR - 666 QAN ?
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(A) O 6Q Jad

(B) O a4 (Correct Answer)
(C) O @& (Chosen option)

(0) O 34

Question No.14 Marks

Bookmar
‘(16619 @ IR 619 ?

(A) O 6@€& (Correct Answer)
(B) O aagesl (Chosen option)
(C) O qede

(D) O oga

Case Study - 15t0 19
QIR FIQIR I, E8l SIARQ 2QAIL, | 699R ARY-CILR P6L; AAIR-EIAR, UT-EIIR IQE AR 686Q
6FFel 9e° JOFe Qg @ AR SSIR 99 | AINe AAIRQ 2IRA 2QgI6R AAIRAARIAINGR I QIS AR |
640I6R AR FAYER AFIRQ FAQI 26M @66l QIR 1 28T6 JRIgE Jgaa alem | J¢ 2egIen 6dIRER
AR 62010 F661T 660 @26l ? JEAI° FIRQR AgE Qaat FIREYE dalé @ARIRIG QIRIFa a2 A9 2iml |
N2 Q6Q66Q 2RIFRER ATIR4Q, 7t 62RSRI | SRR ARRE ERAIRAIQEF FI6R 217 29gI6a SMIgeIa 64
@ QR QIR 6RARRYR, 121 I FEI6A U6R6R FRRIER BRI @F; BY 16Q gl 6al6id 6wl6ld 216 A0
JIR6a 6RILEIRI A6y 6arIeR 19 @Qag, 647167 62604 ARCIEER 9191 A9Eeea 2IEIAIRY | &l
JaIeER AINQQ 67AGR 2gRE6 6§ §Q16 AR JIFR | QrIE Bl AInea Jgd 6 F8g SIeIa |1 9@l
AR FIRQQ |

Question No.15 Marks

. Bookmar
606 RIR6a 2G86 9RIge AgUa Q19 @gelem ?

(A) O a6 6006a

(B) O aqaiea gaqieglea (Correct Answer) (Chosen option)
(C) O arjfe gaea

(D) O crgelea

Question No.16 Marks

Bookmar
AQERAEA Q& ANl °UNER 6RE0R QIPFA 2IslE @'6l 2

(A) O 6Ige&a #60IQ 8IaR

(B) O d6fe fae gsralg agie

(€) O udigaiey arlie §Iae

(D) O @& @ sniaeq a&ag (Correct Answer) (Chosen option)

Question No.17 Marks
Bookmar

AP106Q ARIFIER 696 QERE6R ALY, Fgelem ?
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(A) O AIeea AIRQE AR QIR (Correct Answer) (Chosen option)
(B) O Aea gsral ARl

(C) O feq 86 atQl ARl

(D) O 4Q162QIdI6

Question No.18

2QERA6R 2o 'IRIYE'R 212 '€l ?

A) O gerea

(B) O geI@

(C) O geIgfe (Correct Answer) (Chosen option)
(D) O gelwa J&

Question No.19

AIRQR AINQY dATe 29 &Aq ?

(A) O @09 Qfeq

(B) O &mIm@ea (Chosen option)

(C) O gre 6gl gee'@6a (Correct Answer)
(D) O 2ige agbea

Question No.20

2RYFRE FIORER 606 ARG 992
(A) O ©gQél (Chosen option)
(B) O age (Correct Answer)
(C) O aq

(D) O agm

Question No.21

'AQIV'- 606 AAIQ ?

(A) O §q (Chosen option)

B) O ¢g

(C) O 2eiaee

(D) O @g@ (Correct Answer)

Question No.22

'R - 606 AAIA ?
(A) O @@ (Correct Answer)
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(B) O @g91@ (Chosen option)
(€) O 2R
(0) O @9

Question No.23

'CI6E161- SRR AFICIERRIP §IRT @'61 ?

(A O o

(B) O oplea

(C) O <ode

(D) © 4@Qg (Correct Answer) (Chosen option)

Question No.24

O ¢ef 0gia G2l |

(A) O M@I91Qa8! (Chosen option)
(B) O ARIQIQAS]

(C) O eRGeas

(D) O @IRIGQEE! (Correct Answer)

Question No.25

20 ARRI- QPR 62 a8 0@ ?

(A) O elosq GaIR @ael

(B) O exlemea 2@ @&l (Correct Answer) (Chosen option)
(C) O 2Ie d@al

(D) O 219 Q!

General Knowledge - General Knowledge

Question No.1

Which religion was followed by King Kharavela of Kalinga ?
(A) © Brahminism

(B) O Buddhism
(C) O Jainism (Correct Answer) (Chosen option)
(D) O Saktism

Question No.2

In which state is Muppandal Wind Farm, located?

(A) O Tamil Nadu (Correct Answer) (Chosen option)
(B) O Chhattisgarh

(C) O Nagaland
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(D) O Uttar Pradesh

Question No.3

Which of the following has maintained its position as the top Indian Institution for the
fourth consecutive year in 'QS World University Rankings 2022'?

(A) O T Bombay (Correct Answer) (Chosen option)
(B) O 1ISC, Bengaluru

(€) O 1T Delhi

(D) © IIT Madras

Question No.4

Action for Climate Empowerment (ACE) is a term adopted by the

(A) O United Nations Framework Convention on Climate Change (Correct Answer)
(B) O African Union

(C) O World Health Organization (Chosen option)

(D) O International Criminal Court of Justice

Question No.5

In which place was the India's First animal vaccine depot set up in 18907
(A) O Chennai (Chosen option)

(B) O Shillong (Correct Answer)
(C) © Mumbai
(D) O Kolkata

Question No.6

Chadheiya Dance is associated with which of the following states?
(A) O Maharashtra

(B) O Rajasthan
(C) O Gujarat (Chosen option)
(D) O oOdisha (Correct Answer)

Question No.7

Which of the following is the most recently added fundamental duty in the Indian
Constitution?

(A) O To provide opportunities for education to his child between the age of six and
fourteen years (Correct Answer)

(B) O To defend the country and render national service when called upon to do so
(C) © To develop the scientific temper
(D) O To safeguard public property (Chosen option)

Question No.8
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Who among the following is a member of G7 ?
(A) O Pakistan

(B) O Russia (Chosen option)
(C) O cCanada (Correct Answer)
(D) O Oman

WtsApp/Call- 8596976190

Question No.9

Ananta Vasudeva Temple of Bhubaneswar was built by ;
(A) O cChandrika Devi (Correct Answer)

(B8) O Bhanudeva
(C) O Kolavati Devi

(D) O Anantavarman Chodagangadeva (Chosen option)

Question No.10

When was the practice of Sati banned in India?
(A) O 1862 (Chosen option)

(B) O 1879
(c) O 1870
(D) O 1829 (Correct Answer)

Question No.11

In which district of Odisha the Hot Spring Atri is located?
(A) O Nayagarh (Chosen option)

(B) O Khurda (Correct Answer)

(C) © Ganjam

(D) O Cuttack

Question No.12

Which Article of the Constitution of India provides for free legal aid to the poor and
weaker sections of the society and ensures justice for all?

(A) O Article 39A (Correct Answer) (Chosen option)
(B) O Article 48A
(C) O Article 43A
(D) O Article 43B

Question No.13

Which part of the Constitution advocates to secure opportunities for healthy
development of children?

(A) O Directive Principles of State Policy - Article 43B
(B) O Directive Principles of State Policy - Article 39 (Correct Answer)
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(C) © Fundamental Rights - Article 28 (Chosen option)
(D) O Fundamental Rights - Article 17

Question No.14

Fakir Mohan Senapati wrote a Kavya called Baudhabatara Kavya (1909) based on the life
and preachings of:

(A) O Vardhamana Mahavira

(B) O Gautama Buddha (Correct Answer) (Chosen option)
(C) O Chanakya

(D) © Chaitanya Mahaprabhu

Question No.15

Which is known as Black Pagoda of Odisha?

(A) O Konark Sun Temple (Correct Answer) (Chosen option)
(B) O Udaygiri

(C) O Dhauligiri

(D) O Lalitgiri

Question No.16

Puri Jagannath temple was constructed by a king of which dynasty?
(A) O Chalukya Dynasty

(B) O Ganga Dynasty (Correct Answer)

(C) O Suryavamsi Gajapati dynasty (Chosen option)
(D) O Bhoi Dynasty

Question No.17

Identify this physiographic division of India - They are continuous mountain range and
can be crossed only through passes like the Thal, Bhor and the Pal Ghats?
(A) O Purvanchal

(B) O Eastern ghats
(C) O Himalayan (Chosen option)
(D) O Western ghats (Correct Answer)

Question No.18

In which year, the Right to Organise and Collective Bargaining Convention, was adopted
by International Labour Organization?

(A) O 1949 (Correct Answer) (Chosen option)
(B) O 1982

(c) © 1971
(D) O 1959
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Question No.19

In which year did the combined armies of Bijapur, Ahmednagar and Golconda defeat the
ruler of Vijayanagar Kingdom?

(A) O 1529 AD

(B) O 1542 AD (Chosen option)
(C) O 1665 AD

(D) O 1565 AD (Correct Answer)

Question No.20

As of 2020, which Indian state has highest number of number of seats in Legislative
Assembly?

(A) O Bihar
(B) O Rajasthan
(C) O Maharashtra

(D) O Uttar Pradesh (Correct Answer) (Chosen option)

Question No.21

Which of the following is the new generation advanced variant of Agni class of missiles
with range capability between 1000 and 2000km?

(A) O Agni-P (Correct Answer)

Which of the following festival was especially observed by the Telugu community in

JoinUs-' > f

(B) O Agni-l

(C) O Agni-V (Chosen option)

(D) O Agni-li

Question No.22
E

What is the maximum age limit fixed by RBI for Bank Functionaries like MD, CEQ, Whole
time Director(WTD)?

(A) O 65 Years (Chosen option)

(B) O 70 Years (Correct Answer)

(C) O 60 Years

(D) O 68 Years

Question No.23

E

Who Conducts Consumer Confidence Survey (CCS) on Quarterly Basis?

(A) O NITI Aayog

(B) © Ministry of Consumer Affairs, Food and Public Distribution (Chosen option)
(C) O Reserve Bank of India (Correct Answer)
(D) O National Statistical Office

Question No.24

E
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Cuttack city?

(A) O Chhat Puja (Chosen option)

(B) O Car Festival

(C) O Baneshwar Festival

(D) O Maa Sholapuri Puja (Correct Answer)

Question No.25

Which of the following soil looks yellow when it occurs in a hydrated form?
(A) O Red soil (Correct Answer)

(B) O Alluvial Soils (Chosen option)
(C) O Arid soil
(D) O Black soil

Question No.26

Who is known as the 'Napoleon of India'?
(A) O Ashoka

(B) O Melander

(C) O Samudragupta (Correct Answer) (Chosen option)
(D) O Bindusara

Quantitative Aptitude - Quantitative Aptitude

Question No.1

What value should come in the place of question mark (?) in the following question?
(1/53)x24009+1/60(7860) = ? x 292

A) O 1
B) O 4
(Cy €33
(D) O 2 (Correct Answer)

Question No.2

A can finish a work in 273 days and B can do the same work in 546 days. Working
together, they will complete the same work in how many days?

(A) O 168
(8) O 184
(€) © 180
(D) O 182 (Correct Answer) (Chosen option)

Question No.3

Find the value of X:
VX x 222 = (23668-23446)x28
(A) O 784 (Correct Answer)
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(8) O 961
€) O 841
(D) O 900

Question No.4

If a bus travels from city A to city B with a speed of 567 kmph and another bus travels
from city B to city A with a speed of 477 kmph, find the relative speed when both the
buses cross each other.(In m/s)

(A) O 290 (Correct Answer)
B) O 260
(©) O 270
(0) O 280

Question No.5

The average of 172 lab readings was 68 units. Later on it was found that a reading 240
was wrongly typed as 68. Find the correct average.

(A) O 67
(B) O 71
(C) O 69 (Correct Answer)
(D) O 73

Question No.6

After 5060 liters of petrol were poured into the tank, it was still 12% empty. What is the
total capacity of the tank?(In liters)

(A) O 5750 (Correct Answer)
(8) O 5550
(c) O 5450
(D) O 5650

Question No.7

E
Find the average of arithmetic progression whose first term is 2377 and the last term is
4599,

(A) O 3488 (Correct Answer)
B) O 3688
(C) O 3588
(D) O 3788

Question No.8

The average of 51 numbers is 197. After excluding one of the numbers, the average
remains the same. Find the number which is excluded.

(A) O 193
(B) O 197 (Correct Answer)
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() O 191
(D) O 195

Question No.9

E
If Ramesh distributed 2205 chocolates from a box of 5250 chocolates, what percentage

of the chocolates will be left in the box?

(A) O 64
B) O 60
(©) O 62
(D) O 58 (Correct Answer) (Chosen option)

Question No.10

What value should come in the place of question mark (?) in the following question?
9.5%(16x2.5%3.5%x24)+16 = ?

(A) O 1785
(B) O 1995 (Correct Answer)
(C) O 2095
(D) O 1895

Question No.11

Pipe A can fill a tank in 381 minutes and Pipe B can fill the same tank in 762 minutes. If
both pipes are opened together, how many minutes will it take to fill the empty tank?

(A) O 256
(B) O 254 (Correct Answer)
(Y ) 252
(D) O 258

Question No.12

Average of 11 consecutive numbers is 544. If the average of 1! 5 numbers is 541 and
the average of last 5 numbers is 547, find the middle number.
(A) O 540

(B) O 544 (Correct Answer)
(©) O 546
(D) © 542

Reasoning Ability - Reasoning Ability

Question No.1

E
Find the next number in the series.
2970, 2845, 2495, 1920, 1120, ?
A) O 97
(8) O 93

(C) O 95 (Correct Answer) (Chosen option)

JoinUs-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World App WitsApp/Call- 8596976190

(@) O 91

Question No.2

A girl is facing South direction. If she turns 72 degrees in clockwise direction and 63
degrees in the same direction, which direction will she face now?

(A) O North-East (Chosen option)
(B) O North-West (Correct Answer)
(C) O South-West

(D) O South-East

Question No.3

Find the next number in the series.
3,21,77,247,759,?

(A) O 2296

B) O 2250

(C) O 2297 (Correct Answer)
(D) O 2295 (Chosen option)

Question No.4

In a certain code language, if GIANT is coded as MKEXR, then how is ROUTE coded in
that language?

(A) O SVYIX (Correct Answer)
(B) O KZAUX (Chosen option)
(©) O ILFGV
() O VSYXI

Question No.5

Janani walks 12km towards West and takes a left turn and walks 7km. She then takes
another left turn to cover 7km and after covering, she walks 6km towards South. She
then finally walks 5km towards East. How far is she from the starting point?

(A) O 7km

(B) O 9km (Chosen option)

(C) O 13km (Correct Answer)

D) O 11km

Question No.6

Replace the question mark with an option that follows the same logic applied in the
first pair

Architect : Building :: Chef : ??

(A) O Repairing

(B) O Cooking (Correct Answer) (Chosen option)
(C) O Refurbishing
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